Quiz 3 units 6-7)

Fill in the blank(s) in each sentence with the appropriate particle. Where a particle is not needed,
write in an X.

Chan-san wa Takahashi-san ( ) hana o moraimashita.
Watashi wa tanjobi ni haha ni sukafu ( ) agemashita.
Do-ydbi ni Asakusa de o-matsuri ( ) arimasu.
Watashi wa kuruma ( ) arimasu.

vk N =

Watashi wa eiga no kippu ( ) 2-mai ( ) arimasu.

0 Complete each question by filling in the blank with the appropriate word.
- 1. Tokyd Resutoran wa ( ) resutoran desu ka.
Kireina resutoran desu.

2. Sumisu-san wa ( ) ni eiga no kippu o moraimashita ka.
Tomodachi ni moraimashita.

3. Kind no konsato wa ( ) deshita ka.
Totemo yokatta desu.

4. Nichi-yobi ni ( ) de bagen-séru ga arimasu ka.
Tokyo Depato de arimasu.

®.‘ Change the word in parentheses to the form that is appropriate in the context of the sentence.

1. Tokyo Hoteru wa ( ) hoteru desu. (kirei desu)
2. Kore wa ( ) kéki desu. (oishii desu)

3. Ano resutoran wa amari ( ). (shizuka desu)
4. Kind no pati wa totemo ( ). (nigiyaka desu)
5. Kind no eiga wa amari ( ). (omoshiroi desu)

m Change the words in parentheses to the forms that are appropriate in the context of the dialogue.

1. A: Shamatsu ni issho ni eiga o ( ). (mimasu)
B: Ee, mimasho.
A: Doko de ( ). (aimasu)
B: Tokyd Eki wa do desu ka.

2. A: Eakono( ). (tsukemasu)
B: lie, kekko desu.
A: Dewa, mado o ( ). (akemasu)
B: Hai, onegaishimasu.
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